

Bill to Party:	Ship to Party:
R&P Grupp OÜ	R&P Grupp OÜ
Kadaka tee 1	Kadaka tee 1
Tallinn 10621	Tallinn 10621
Estland	Estland

PAGE 1	must be indicated on payments	Invoice and Order Confirmation				
Date	Customer acc# rep.no.	invoice no.	our order no.	shipping note no.		
02/12/20	8805071 D70	RT10330173	69023716	11412627 02/12/20		
PO#: PO 76 - 14SEP2020				VAT no.: EE100531929		
Part No.	Description	Country of Origin	Qty	Unit Price	EUR	Total
D1452201	Tempus 77 schwarz	CN	2	111.00		
	EAN 4018843452203					
	Service Allowance			1.00- %	1.1100-	
				EA	2 109.8900	219.78
D14482701	Monitor Supreme Sub 302 A schwarz	CN	2	115.00		
	EAN 4018843482705					
	Service Allowance			1.00- %	1.1500-	
				EA	2 113.8500	227.70
D172600	Multi Monitor 220 schwarz	CN	1	165.00		
	EAN 4018843726007					
	Service Allowance			1.00- %	1.6500-	
				EA	1 163.3500	163.35
D168400	Symbol X 160 black	CN	4	105.00		
	EAN 4018843684000					
	Service Allowance			1.00- %	1.0500-	
				EA	4 103.9500	415.80
D171160	Sounddeck SD 160	CN	1	169.00		
	Service Allowance			1.00- %	1.6900-	
				EA	1 167.3100	167.31
Net 30 terms discount if paid before 01/01/21				Total EUR Excl. VAT	1,193.94	
				Total EUR Incl. VAT	1,193.94	

Payments are only accepted, when invoice number is indicated
 HRE 40529, AG Köln
 USt-Id Nr DE 811 289 664
 ILN 40 18843 00000 8
 St.-Nr. 203/5788/1390

Bahnstation Pulheim
 WEEE-Reg.-Nr.
 Glaubiger-ID
 Geschäftsleitung:

DE 77133544
 DE71ZZZ00000065233
 John Verbinen
 Shandro Fischer

Commerzbank Köln
 Kto.-Nr 300 1997 BLZ370 400 44
 IBAN DE 45 3704 0044 0300 1997 00
 BIC COBA DEFF 370

Bill to Party:	Ship to Party:
R&P Grupp OÜ	R&P Grupp OÜ
Kadaka tee 1	Kadaka tee 1
Tallinn 10621	Tallinn 10621
Estland	Estland

PAGE 1	must be indicated on payments	Invoice and Order Confirmation
Date	Customer acc# rep.no.	invoice no. our order no. shipping note no.
02/12/20	8805071 D70	RT10330174 69023717 11412628 02/12/20

PO#:	PO 76-1 14SEP2020	VAT no.:	EE100531929			
Part No.	Description	Country of Origin	Qty	Unit Price	EUR	Total
D1103769	BLK W 16	CN	2	17.80		
	EAN 4023037037692					
	Service Allowance			1.00- %	.1780-	
				EA	2 17.6220	35.24
D11416503	MAC MOBIL Street 16.2	CN	4	12.90		
	EAN 4023037165036					
	Service Allowance			1.00- %	.1290-	
				EA	4 12.7710	51.08
D1651510	Mac LS 1510	CN	20	2.00		
	EAN 4023037515107					
	Service Allowance			1.00- %	.0200-	
				EA	20 1.9800	39.60

Net 30		Total EUR Excl. VAT	125.92
terms discount if paid before	01/01/21	Total EUR Incl. VAT	125.92

Payments are only accepted, when invoice number is indicated
 HRB 40529, AG Köln
 USt-Id Nr DE 811 289 664
 ILN 40 18843 00000 8
 St.-Nr. 203/5788/1390

Bahnstation Pulheim
 WEEE-Reg.-Nr.
 Glaubiger-ID
 Geschäftsleitung:

DE 77133544
 DE712ZZ00000065233
 John Verbinen
 Shandro Fischer

Commerzbank Köln
 Kto.-Nr 300 1997 BLZ370 400 44
 IBAN DE 45 3704 0044 0300 1997 00
 BIC COBA DEFF 370

Bill to Party:	Ship to Party:
R&P Grupp OÜ	R&P Grupp OÜ
Kadaka tee 1	Kadaka tee 1
Tallinn 10621	Tallinn 10621
Estland	Estland

PAGE 1		must be indicated on payments			Invoice and Order Confirmation		
Date	Customer acc#	rep.no.	invoice no.	our order no.	shipping note no.		
02/12/20	8805071	D70	RT10330175	69218922	11412629 02/12/20		
PO#: PO 77 - R&P - 01.DEZ2020				VAT no.: EE100531929			
Part No.	Description	Country of Origin	Qty	Unit Price	EUR	Total	
D149515	MA 900	CN	1	429.00			
	EAN 4018843495156						
	Service Allowance			1.00- %	4.2900-		
				EA	1	424.7100	424.71
D147254	Signature 905 piano black	CN	2	419.00			
	EAN 4018843472546						
	Service Allowance			1.00- %	4.1900-		
				EA	2	414.8100	829.62
D147262	Signature C 93 piano black	CN	2	244.00			
	EAN 4018843472621						
	Service Allowance			1.00- %	2.4400-		
				EA	2	241.5600	483.12
D147239	Signature 707 black	CN	2	349.00			
	EAN 4018843472393						
	Service Allowance			1.00- %	3.4900-		
				EA	2	345.5100	691.02
D147243	Signature C 73 white	CN	1	175.00			
	EAN 4018843472430						
	Service Allowance			1.00- %	1.7500-		
				EA	1	173.2500	173.25
D147245	Signature Sub 730 A Black	CN	1	279.00			
	EAN 4018843472454						

Payments are only accepted, when invoice number is indicated
 HRB 40529, AG Köln
 USt-Id Nr DE 811 289 664
 ILN 40 18843 00000 8
 St.-Nr. 203/5788/1390

Bahnstation Pulheim
 WEEE-Reg.-Nr.
 Glaubiger-ID
 Geschäftsleitung:

DE 77133544
 DE712ZZ00000065233
 John Verbinen
 Shandro Fischer

Commerzbank Köln
 Kto.-Nr 300 1997 BLZ370 400 44
 IBAN DE 45 3704 0044 0300 1997 00
 BIC COBA DEFF 370

Bill to Party:	Ship to Party:
R&P Grupp OÜ	R&P Grupp OÜ
Kadaka tee 1	Kadaka tee 1
Tallinn 10621	Tallinn 10621
Estland	Estland

PAGE 2	must be indicated on payments	Invoice and Order Confirmation		
Date	Customer acc# rep.no.	invoice no.	our order no.	shipping note no.
02/12/20	8805071 D70	RT10330175	69218922	11412629 02/12/20

PO#: PO 77 - R&P - 01.DEZ2020 VAT no.: EE100531929

Part No.	Description	Country of Origin	Qty	Unit Price	EUR	Total
	Service Allowance			1.00- %	2.7900-	
				EA	1 276.2100	276.21
D147246	Signature Sub 730 A white	CN	1	279.00		
	EAN 4018843472461					
	Service Allowance			1.00- %	2.7900-	
				EA	1 276.2100	276.21
D146222	Signature 507 Mocca	CN	2	192.00		
	EAN 4018843462226					
	Service Allowance			1.00- %	1.9200-	
				EA	2 190.0800	380.16
D146212	Signature 505 Mocca	CN	2	158.00		
	EAN 4018843462127					
	Service Allowance			1.00- %	1.5800-	
				EA	2 156.4200	312.84
D146240	Signature Sub 530 A Black	CN	2	192.00		
	EAN 4018843462400					
	Service Allowance			1.00- %	1.9200-	
				EA	2 190.0800	380.16
D146242	Signature Sub 530 A Mocca	CN	2	192.00		
	EAN 4018843462424					
	Service Allowance			1.00- %	1.9200-	
				EA	2 190.0800	380.16

Payments are only accepted, when invoice number is indicated
 HRB 40529, AG Köln
 USt-Id Nr DE 811 289 664
 ILN 40 18843 00000 8
 St.-Nr. 203/5788/1390

Bahnstation Pulheim
 WEEE-Reg.-Nr.
 Glaubiger-ID
 Geschäftsleitung:

DE 77133544
 DE71ZZZ00000065233
 John Verbinnen
 Shandro Fischer

Commerzbank Köln
 Kto.-Nr 300 1997 BLZ370 400 44
 IBAN DE 45 3704 0044 0300 1997 00
 BIC COBA DEFF 370

Bill to Party:	Ship to Party:
R&P Grupp OÜ	R&P Grupp OÜ
Kadaka tee 1	Kadaka tee 1
Tallinn 10621	Tallinn 10621
Estland	Estland

PAGE 3		must be indicated on payments			Invoice and Order Confirmation	
Date	Customer acc#	rep.no.	invoice no.	our order no.	shipping note no.	
02/12/20	8805071	D70	RT10330175	69218922	11412629 02/12/20	
PO#: PO 77 - R&P - 01.DEZ2020				VAT no.: EE100531929		
Part No.	Description	Country of Origin	Qty	Unit Price	EUR	Total
D14480801	MONITOR Supreme 802 schwarz	Paar CN	2	105.00		
	EAN 4018843808093					
	Service Allowance			1.00- %	1.0500-	
				EA	2 103.9500	207.90
D14482531	MONITOR Supreme Center 252	mocca CN	2	29.50		
	EAN 4018843482538					
	Service Allowance			1.00- %	.2950-	
				EA	2 29.2050	58.41
D1009450	Transpuls 1500	CN	6	195.00		
	EAN 4018843094502					
	Service Allowance			1.00- %	1.9500-	
				EA	6 193.0500	1,158.30
D1009420L	Transpuls 1000 left	CN	3	155.00		
	EAN 4018843094205					
	Service Allowance			1.00- %	1.5500-	
				EA	3 153.4500	460.35
D1009420R	Transpuls 1000 right	Home speaker CN	3	155.00		
	EAN 4018843942087					
	Service Allowance			1.00- %	1.5500-	
				EA	3 153.4500	460.35
D14242260	Alpha RS 12 black	CN	2	139.00		
	EAN 4018843422602					

Payments are only accepted, when invoice number is indicated
 HRB 40529, AG Köln
 USt-Id Nr DE 811 289 664
 ILN 40 18843 00000 8
 St.-Nr. 203/5788/1390

Bahnstation Pulheim
 WEEE-Reg.-Nr.
 Glaubiger-ID
 Geschäftsleitung:

DE 77133544
 DE712ZZ00000065233
 John Verbinen
 Shandro Fischer

Commerzbank Köln
 Kto.-Nr 300 1997 BLZ370 400 44
 IBAN DE 45 3704 0044 0300 1997 00
 BIC COBA DEFF 370

Bill to Party:	Ship to Party:
R&P Grupp OÜ	R&P Grupp OÜ
Kadaka tee 1	Kadaka tee 1
Tallinn 10621	Tallinn 10621
Estland	Estland

PAGE 4	must be indicated on payments	Invoice and Order Confirmation			
Date	Customer acc#	rep.no.	invoice no.	our order no.	shipping note no.
02/12/20	8805071	D70	RT10330175	69218922	11412629 02/12/20

PO#: PO 77 - R&P - 01.DEZ2020 VAT no.: EE100531929

Part No.	Description	Country of Origin	Qty	Unit Price	EUR	Total
	Service Allowance			1.00- %	1.3900-	
				EA	2 137.6100	275.22
D14242262	Alpha RS 12 mocca	CN	2	139.00		
	EAN 4018843422626					
	Service Allowance			1.00- %	1.3900-	
				EA	2 137.6100	275.22
D14242250	Alpha RS 8 black	CN	2	100.00		
	EAN 4018843422510					
	Service Allowance			1.00- %	1.0000-	
				EA	2 99.0000	198.00
D14242252	Alpha RS 8 mocca	CN	2	100.00		
	EAN 4018843422527					
	Service Allowance			1.00- %	1.0000-	
				EA	2 99.0000	198.00
D148450	Magnat ATM 202 black	Atmos speaker pair				
	EAN 4018843484501	CN	2	99.00		
	Service Allowance			1.00- %	.9900-	
				EA	1 98.0100	98.01
D148452	Magnat ATM 202 white	Atmos speaker pair				
	EAN 4018843484525	CN	2	99.00		
	Service Allowance			1.00- %	.9900-	
				EA	1 98.0100	98.01

Payments are only accepted, when invoice number is indicated
 HRB 40529, AG Köln
 USt-Id Nr DE 811 289 664
 ILN 40 18843 00000 8
 St.-Nr. 203/5788/1390

Bahnstation Pulheim
 WEEE-Reg.-Nr.
 Glaubiger-ID
 Geschäftsleitung:
 DE 77133544
 DE71ZZZ00000065233
 John Verbinnen
 Shandro Fischer

Commerzbank Köln
 Kto.-Nr 300 1997 BLZ370 400 44
 IBAN DE 45 3704 0044 0300 1997 00
 BIC COBA DEFF 370

Bill to Party:	Ship to Party:
R&P Grupp OÜ	R&P Grupp OÜ
Kadaka tee 1	Kadaka tee 1
Tallinn 10621	Tallinn 10621
Estland	Estland

Date	Customer acc#	rep.no.	invoice no.	our order no.	shipping note no.	Invoice and Order Confirmation	
02/12/20	8805071	D70	RT10330175	69218922	11412629	02/12/20	
PAGE 5 must be indicated on payments							
PO#: PO 77 - R&P - 01.DEZ2020						VAT no.: EE100531929	
Part No.	Description	Country of Origin	Qty	Unit Price	EUR	Total	
D172600	Multi Monitor 220 schwarz	CN	2	165.00			
	EAN 4018843726007						
	Service Allowance			1.00- %	1.6500-		
				EA	2 163.3500	326.70	
D168400	Symbol X 160 black	CN	2	105.00			
	EAN 4018843684000						
	Service Allowance			1.00- %	1.0500-		
				EA	2 103.9500	207.90	
D168405	Symbol X 160 white	CN	1	105.00			
	EAN 4018843684055						
	Service Allowance			1.00- %	1.0500-		
				EA	1 103.9500	103.95	
D168410	Symbol X 130 black	CN	4	78.00			
	EAN 4018843684109						
	Service Allowance			1.00- %	.7800-		
				EA	4 77.2200	308.88	
D1312062	Signature IWT 262	CN	2	139.00			
	EAN 4018843120621						
	Service Allowance			1.00- %	1.3900-		
				EA	2 137.6100	275.22	
D1312060	Signature IWT 162	CN	2	104.00			
	EAN 4018843120607						

Payments are only accepted, when invoice number is indicated
 HRB 40529, AG Köln
 USt-Id Nr DE 811 289 664
 ILN 40 18843 00000 8
 St.-Nr. 203/5788/1390

Bahnstation Pulheim
 WEEE-Reg.-Nr.
 Glaubiger-ID
 Geschäftsleitung:

DE 77133544
 DE71ZZZ00000065233
 John Verbinen
 Shandro Fischer

Commerzbank Köln
 Kto.-Nr 300 1997 BLZ370 400 44
 IBAN DE 45 3704 0044 0300 1997 00
 BIC COBA DEFF 370

Bill to Party:	Ship to Party:
R&P Grupp OÜ	R&P Grupp OÜ
Kadaka tee 1	Kadaka tee 1
Tallinn 10621	Tallinn 10621
Estland	Estland

PAGE 6	must be indicated on payments	Invoice and Order Confirmation			
Date	Customer acc#	rep.no.	invoice no.	our order no.	shipping note no.
02/12/20	8805071	D70	RT10330175	69218922	11412629 02/12/20

PO#: PO 77 - R&P - 01.DEZ2020	VAT no.: EE100531929					
Part No.	Description	Country of Origin	Qty	Unit Price	EUR	Total
	Service Allowance			1.00- %	1.0400-	
				EA	2 102.9600	205.92
D158400	Interior ICP 52	CN	6	21.00		
	EAN 4018843584003					
	Service Allowance			1.00- %	.2100-	
				EA	6 20.7900	124.74

Net 30		Total EUR Excl. VAT	9,648.54
terms discount if paid before	01/01/21	Total EUR Incl. VAT	9,648.54

Payments are only accepted, when invoice number is indicated
 HRB 40529, AG Köln
 USt-Id Nr DE 811 289 664
 ILN 40 18843 00000 8
 St.-Nr. 203/5788/1390

Bahnstation Pulheim
 WEEE-Reg.-Nr.
 Glaubiger-ID
 Geschäftsleitung:

DE 77133544
 DE7122200000065233
 John Verbinen
 Shandro Fischer

Commerzbank Köln
 Kto.-Nr 300 1997 BLZ370 400 44
 IBAN DE 45 3704 0044 0300 1997 00
 BIC COBA DEFF 370